EARAZROREIERT — 2 N—XBISY —F 201855880 () 3EI4ER4H

mﬂﬁ%—ﬂﬁ C2=#?2 (w8 | 1mEmml - |5 6) v s
[AE4£] 1% :250,000” ~ 23#%&:57,000 M  33&:30,000” . 437&:22,000MH . 57&:15,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. R EMESH :32. -1-1- . — 1R (29R)
1l5|5|ER/ TV -T2 # o4 | BB 1(3_2)4 1-1-1-1 | 40.2 1 <5+111) G
R:THINEry b B ISTAX ke
S ST # 12 | ERER 1:32.9 5-4-4-3 [40.0| — | 6 | 48 |MNEEFIE (&R)
2 6| TT1TY—hLPw 56.0 2 1/2) () | BEERE
L:¥r=a14> B:3x/)C K= &E LT
— BRERA Hy : -5-5- — HiEg—t (£R)
3 e P i o8 B 1(.13/32.>o 4-5-5-5 | 39.8 3 <4+652) i
R:Fa528 B:wrRo¥05 HET7—L4L
. 4 4 | BEHBAA 1:33.0 2-2-2-2 | 40.7| — 2 470 | HBARR (&R
4l7| 7| bIvF 56.0 (nF) Cay | B 7r-arEva>
L:n—E>TYv— B:FT7UTN—Fh H"HBET7—L4
c— . BRTF :33. —6-6- . — 1ERER (&R
5 o | NZNFALY - 6 o 1(323)4 6-6-6-6 | 39.6 5 (5_039) e
L:hzxex) B:JUyIRMNI—L4L BN
44 | hEEEH 1:34.0 3-3-3-3 |41.2| — 4 416 | HARRK (£R)
611 )21V~ 5.0 3 G | W) 7r-xbEvas
R:2F4I—IK B:SLFFIIN (B) #HAEIA-FKL—va>AET7
e MR :34. -7-7- a1 - HhE—t (&R)
d : MEEY 98 T e ’ g) IR
LT RIAYTvN> BTN BREMHEGEN RRHSE
= o # o4 | REREKA 1:36.2 8-8-8-8 [39.9| — 7 452 | BRI (£R)
glglg|AT—T1/31 54.0 @) @) | (B J P NH
L:24%x>v ML B:TLFN=U pzEie ]
@ 1—F—@&BIEf
i3=3r= 5,7,1,3,6,2,4,8
20—F— 5,7,1,6,3,2,4,8
Jo=3r= 5,7,1,6,3,2,4,8
41 —F— 5,7,(1,6),3,2,4,8
[ RN
B OB 5 130M 714K 5-6 290M B E 5-6 1,200M &R 3-5-6 1,280
8 B 5 120M 3-5 170 B H 5-6 1,260M JEH 5-6-3 2,630
6 290M 3-6 880M
8 140M

ABICOVWTRDTEEERROODE. TR LIV,




